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5042
B. Com. (Gen./Voc.) EXAMINATION
(For Batch 2011 & 2012 Only)
(Third Semester)

CORPORATE ACCOUNTING-I
BC-302

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all including Q.
No. 1 which is compulsory. Attempt any
Jour questions from the remaining eight

questions. All questions carry equal marks.

1. Attempt all the following questions in brief :
(@) Define share and its various types.

(b) Conditions for the issue of shares at

discount.

(3-10/1) B-5042-(T) 24 L 3




(c)
(d)

i~
~~~

20
—

(b)

Explain Capital Redemption Reserve.

Issue of debentures for consideration
other than Cash.

Explain Corporate Dividend Tax.

State objectives of amalgamation.

X Ltd. forfeited 300 Shares of ¥ 10 each,
T 8 called up on which Mr. A had paid
% 2 on application and ¥ 2 on allotment.
Out of these 100 shares were reissued as
fully paid up for ¥ 7 per share.

L Ltd. forfeited 200 shares of ¥ 10 each,
% 7 called up for non-payment of first
call of ¥ 2 per share. Out of these 160
shares were reissued for at I 6.50 per
share.

Pass Journal Entries.

3. On 1st January, 2012 X Ltd. issued 5000, 11%
Debentures of ¥ 100 each repayable at par at

the end of three years. It was decided to setup

a sinking fund for the purpose of their
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redemption. It is expected that Investment will
earn Interest of 4%. Sinking fund table shows
that ¥ 0.320348 amounts to ¥ 1 at 4% in three
years. Assume that Investments were realised
at par on 31st Dec., 2014, on this date bank
balance of the company was ¥ 4,25,000. The
Debentures where paid off,

Give journal entries and ledger accounts.

4. Y Ltd earned a profit of T 20 Lac for the Sxear
ended on 31st March, 2013, after providing
depreciation and Tax. ¥ 4,00,000 was brought
forward from last year. The capital of the
company is divided into 3,00,000 equity shares
of ¥ 10 each. Appropriations as decided in the

meeting of Directors of the company :
(i) To pay ¥ 1,00,000 as bonus to employees.
(ii) 10% Dividend is to be given to the Equity

shareholders.
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(iii) To transfer ¥ 50,000 to General Reserve.
(iv) To transfer X 1,00,000 to Taxation
Reserve.

(v) To transfer to ‘P &L Appropriation A/c
7 1,00,000 from Exempt Profit Reserve.

(vi) To Transfer X 1,00,000 to Debenture
Redemption Fund.

(vii) Corporate - dividend tax 15% plus
Surcharge 5% and Education cess 3%.

Prepare Profit and Loss Appropriation

Statement.

5. Prepare a Balance Sheet of a Company as per
the Provisions of Companies Act, 2013 by
taking imaginary figures.

6. What is Purchase consideration as per
Accounting Standard 14. Explain various

methods of calculating purchase consideration.
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7. What journal entries are passed in the books

of transferor company in case of amalgamation.

8. Explain various methods used for the redemption
of debentures. Describe their features and effect

on the accounts of the company.

9. Write comprehensive notes on the following :
(a) Alteration of Share Capital

(b) Different  methods of  Internal
Reconstruction.

(Hindi Version)

qAe : YA w1 e ofed wo ure g @
IW AWT | 99 38 WA H ° FE ON
T e | G WA & 3w wEE

1. uft g & SW "aw ¥ dfw .

(31) 9 o 9w {U qon THE UK
TR | : :
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(@) Ust famtem emfam =1 avig sifsm |

(%) T3 & A o A & forg For
SR |

(3) SHANE TN X H TR HifTC |

(F) F9HeA & IR H Ui wifeT |

2. (31) X fa 3 w&@* T 10 914 300 3w, T8
e W Teq fF2 g m . A 32
T2 SMEET W q T2 e W P
v | e wfafem 100 @ T 7 Wi
Ao & fau ik qm: frifm fFo |
() L fa. 3 210 =t 200 33 T2 wfa oW
Ft YUH A & R-PEF T 7 =N R
e TR | e eifafiea T6.50 Wi siw
% feme ¥ 160 siw gAfFifaa fFa
e yfafear wifse |

3.1 SHedt, 2012 X fa % 9 99 % o=

4 g W FHYAE % TEE T 100 &
11% o9, 5000 3w fwifm fFg | s7=

framor = fau fafen woe wnfm @ =
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fresa e ™1 | w® swm @ T R
e 4% =t = afm wtm ) Gt e
e @t ? RR 20.320348 wt uf e o
H 4% W1 ¥ SR | W ehfe 31
f®., 2014 I -7 ® fafeim s fee
™ | W i W wR e ¥ d9g 3
425,000 a1 HUYT gEE W T W |
SHA wfafesl qor et @R sEn |

4. Y fa. 5@ 9o W [ & == 31 99, 2013
F T TN A I ¥ T 20 uw W
T FAR B 1 4,00,000 froet a9 @ @
™ | FE W Y T 2 10 S
3,00,000 T9ar I H fawfsm X & e
FEA % TRE W dfen § frofa Suand
ﬁwm%

() wHoE & S & T 1,00,000 o7
FTH T

(i) THaT SMERE H 10% enEr = S

(iii) ¥ 50,000 ¥M= fed d wmiafe =@
T
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(iv) ®uum fod % T 1,00,000 TR
FA T

(v) #fm @ fd ¥ 3 1,00,000 -7
ffEeT @R ¥ wEaRd w9 T

(vi) ¥ 1,00,000 o= gl ffe T wyHiaRd
FA T

(vii) FTARE @9 F 15% T AR 5%
qen foem X 3% |

-gfy fatmEeE faeon TR ST |

5. FHeutTE oee od gL wEEN TR, 2013
% U ® SER e w1 S g
TR FST | '

6. TEiHT WUSS-14 & JTER @R fo=mor &=
3 7 e fErw = WA % fau fafi=
fafte =1 =areEn i |

7. THET @ A A ZEE FEA W TR
F @ e wiafedl wia & oSt € 2
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g muga wied ¥ wyw fafem fafe
srEn HT | A O @@ W F
fagioarsil dem Wedl 1 U wifSg |

9. frfafad w foxm feuforl fafew :
(1) oo IS w1 qReE
(@) o g w0 fafee fafer o




